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AER D FRIRRIGRE
H#H3—2 BEMIERYTHLEESNSEHEICET ZEEU/1) _ _ i BEEEE S
SEROME | BEES 307BN095 Bl \ FOR ST EIIEF PPN
. SMERMO T inIZBHET ST 2ERIA
ﬁﬁg TREOBBDESLADKRES TREQHBESSLADKRES TREOBBOESLADKRES TREOHBERILHDOKRES
&S K 4 .(%r,na; Tumb\(z)a)i’tﬁﬁﬁ jj(gil;t:ié R 4 Tumﬁg\%:ég;kili ﬁ,né; jj(gifnié R 4 .(%r,na; Lumb\(z)cbtt.% jj(lfil;(nié K 4 LEimnoDEES ﬁ]’n&;{ jj(gil;cnig
; 100kN/M%#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/Mi%Z#8 %% — - ~ — — |3mZE#BZ 3 — — — -
ZznLst 1.00 1 000 ~ 6.49 81.76 | =hst | 000 ~ 649| 1.88 9.50 ZznLst 1.00 | 5.00 ~ 8.00 81.76 | =St | 5.00 8.00 | 1.88 9.50
2 100kN/m%Z#BZ5| 1.00 | 000 ~ 049 107.20 |3mEBZB| — ~ — — — | 100kN/m%#825% | 1.00 | 1096 ~ 1251 107.20 |3mZ#BA5 — - - -
ZznLst 1.00 | 0.49 ~ 827 100.00 | =04y | 000 ~ 827|205 10.38 znLst 1.00 |1 6.00 ~ 10.96 100.00 | =nLs | 5.00 1251 | 2.06 10.38
P 100kN/m#%#BZ25| 1.00 | 000 ~ 039| 10571 |3m&EBZB| — ~ — — — | 100kN/m%Z#Z 5| 1.00 | 1053 ~ 11.59| 105.71 |3mZi#BZ3 — — — —
ZznLst 1.00 | 039 ~ 817 100.00 | =nlsy | 000 ~ 817|218 11.02 znLst 1.00 1 6.00 ~ 1053 100.00 | =nst | 6.00 11.59 | 2.18 11.02
4 100kN/m%Z#BZ5| 1.00 | 000 ~ 070 110.45 |3mEBZB| — ~ — — — | 100kN/m%#825% | 1.00 | 10.72 ~ 1291 110.45 |3mZE#BA5 - - - -
ZznLst 1.00 | 0.70 ~ 849 100.00 | =nlsy | 000 ~ 849|210 10.569 ZznLst 1.00 1 6.00 ~ 10.72 100.00 | =nLs | 5.00 12911 2.10 10.569
5 100kN/m#%#BZ2%| 1.00 | 000 ~ 056 10836 |3m&EBZB| — ~ — — — | 100kN/m%#Z25% | 1.00 | 11.02 ~ 1287 10836 |3mZi#Bz3 - — — —
ZznLst 1.00 | 0.66 ~ 835 100.00 | =nsy | 000 ~ 835|2.05 10.534 ZznLst 1.00 1 6.00 ~ 11.02 100.00 | =nst | 6.00 12.87 | 2.056 10.534
4 100kN/m%Z#BZ5| 1.00 | 000 ~ 069| 110.20 |3mEBZB| — ~ — — — | 100kN/miZ#Z5 | 1.00 | 1070 ~ 1282 110.20 |3mZ#BZ3 - - - -
znLst 1.00 | 0.69 ~ 847 100.00 | =nlsy | 000 ~ 847|210 10.61 ZznLst 1.00 |1 6.00 ~ 10.70 100.00 | =nLs | 5.00 12.82 1 2.10 10.61
7 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/Mi%# %% — - ~ — — |3mZE#BZ 3 — — — -
ZznLst 1.00 1 000 ~ 448 55.89 | Ths | 000 ~ 448 1.93 9.74 ZznLst 1.00 | 5.00 ~ 5.00 55.89 | =St | 5.00 5.00 | 1.93 9.74
g 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/Mi%#8 %% — - ~ — — |3mZE#BZ 3 — — — -
ZznLst 1.00 1 000 ~ 476 59.33 | =hst | 0oo ~ 000|177 8.94 ZznLst 1.00 | 5.00 ~ 5.00 59.33 | =St | 5.00 5001177 8.94
P 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/Mi%Z#8Z % — - ~ — — |3mZE#BZ 3 — — — -
znLst 1.00 1 000 ~ 5.16 64.31 | =LY | 000 ~ 0.00)] 1.58 7.99 ZnLst 1.00 | 5.00 ~ 5.90 64.31 | =hst | 6.00 5.90 | 1.58 7.99
10 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/Mi%Z#8 %% — - ~ — — |3mZE#BZ 3 — — — -
znLst 1.00 | 0.00 ~ 7.04 89.39 | =hst | 0oo ~ 000|177 8.95 znLst 1.00 | 5.00 ~ 8.80 89.39 | =St | 5.00 8801177 8.95
17 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/MiZ#8Z % — - ~ — — |3mZE#BZ B — — — -
ZznLst 1.00 |1 0.00 ~ 6.83 86.47 | Ths | 000 ~ 683 1.84 9.29 ZznLst 1.00 | 5.00 ~ 8.50 86.47 | =St | 5.00 860 | 1.84 9.29
12 100kN/M%Z#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/Mi%Z# %% — - ~ — — |3mZE#BZ 3 — — — —
znLst 1.00 1 0.00 ~ 4.556 56.78 | TS | 000 ~ 455 1.90 9.59 ZznLst 1.00 | 5.00 ~ 5.00 56.78 | =St | 5.00 5.00 | 1.90 9.569
100kN/M%Z#B % % ~ ImEHEAD ~ 100kN/m%Z#BZ % ~ ImERZD
Zh LS ~ ZhnLst ~ Zh LS ~ ZnLst
100kN/M%Z#B % % ~ ImEHBAD ~ 100kN/m%Z#BZ % ~ ImERZ D
Zh LS ~ ZhLst ~ Zh LS ~ ZnLst
100kN/M%Z#B % % ~ ImEHBAD ~ 100kN/m%Z#BZ % ~ ImERZ D
zhLst ~ s ~ ZzhLst ~ s
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